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1 2-1 KR BF T = L H

2 3-1 KRBT - M 2& H 1

3 7-1 KR BF T = KFH z

4 11-1 KRBT = 5 H

5 13-1 KRBT = e /R H 2

6 14-1 KRBT = 1 4 H

7 15-1 KRBT = 1 4 H

8 19-1 KR BF T = S H 3

9 20-1 KR BF T = S H

10 28-1 KRBT = ¥rH H

11 30-1|  RIEFHT HRSL DR 4 4

12 32-1 KRBT AT AR H

13 36-1 KRBT AT [iyan H

14 37-1 KRBT AT fiyan H 5

15 41-1 KRBT AT T H

16 44-1 KR BF T AT HH, i

17 45-1 KRBT AT e b, HrH H 6

18 48-2 KR EPET AT B (M AGRAX) H

19 55-1 KRBT AT N H 1
20 57-1 KRBT AT N H 7
21 58-1 KRBT AT [EPAG H
22 59-1 KRBT AT [EPAG H
23 60-1 KRBT AT [EPAG H 8
24 63-1 KR BF T AT DY B i
25 66-1 KR BF T AT KiE i
26 69-1 KR BpHT XRAT TRERH H 9
27 76-1 KR BpHT s i H
28 78-1 KR BpHT s O, M H
29 81-1 KR BpHT i LSS H 10
30 83-2(  KRBFET s {24 H
31 84-1 KR BF T i f o, W H
32 89-1 KR BpHT s IR H 11
33 92-3|  KIREPHT i RN H
34 93-1 KR BpHT s PSR, Wnve H 12
35 95-1 KR BpHT i Ve H
36 97-1 KR BpHT s Ell! H 13
37 103-1 KR BpHT s L% z
38 104-1 KR BpHT HEFn 6 X H "
39 107-1 KR BpHT HEFn 8 X H )
40 110-1 KR BpHT HEFn 10X, 11K H 15
41 114-1 KR BpHT AN 3 X F
42 117-1f KRBT Bk 2 X H 16 3
43 119-1f  KRBPHT Bk 4 X H
44 123-1 N T A G, WG [
45 124-1 5 B T i il H 17
46 126-3 N T i A = RES (ATIAX) H
47 127-1 N T i Fo ., Gl
48 132-1 N T B FEVAITAEL 4 18
49 134-1 5 BT i 5] H
50 140-1 N T B Sk 4
51 141-1 N T A i H 19
52 144-1 5 B T i B, L H
53 152-1 x5 T AR % H
54 153-1 o T AR ML, /W, ET H 20 A
55 154-4 N T BES O b DR il
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56 158-1 o BT B £ 13K il 91
57 160-1 5 BT B £ 12K il

58 161-1 5 BT B £ 11K Gl 99
59 165-3 N T B £ R gt /N A5 Gl

60 166-1 5 BT B £ 7K, 8K, 9K Gl 93
61 171-1 A BT RaT A 11X ik

62 174-1 5 BT HEA [FER, 2 F o4
63 180-1 o BT HEA 5 2 1| Gl

64 184-1 N T HEA ARG, 1L Gl 95
65 188-2 N HEAR BERL L, XU F (ATIAX) Gl

66 190-1 ENELUN JELRT AH 1, RH2 KX, 2H3M Gl

67 195-4 ENELU IR FAVEG 4 26
68 196-1 ENELUN JELRT FTs 4

69 199-1 ENELU JELRT SN Gl o7 5
70 200-1 ENELUN i . RER, PR Gl

71 209-1 YL i) [HAH 2 8, [ 3 FH i 98
72 211-1 f = Y ZHA PPN, MR, SR, s il

73 215-1|  HE» 0T i T E Gl 99
74 216-1|  HE» f&HAT = ik H

75 217-1|  HEx f&HAT Sl ik, HURE F -
76 221-1|  HE» f&HAT = W= H

77 225-1|  HE» EAT = i 1 F 31
78 233-1|  BE» f&AT il /=5 E1ENES S Gl

79 234-1|  BE» f&AT i /=5 ey, BHH. AhE. K H Gl 2 p
80 238-1|  HEx f&HAT i /=5 LI 2 X 4

81 239-2|  HEx EAT it |G X il 13
82 241-1|  HE4 [EHT i /=5 il F

83 247-1|  BE» f&AT Kl TR Gl "
84 249-1|  HE» EAT Kl i F

85 251-1|  HE» &0 Kil& N 2] R
36 255-1|  BE4 f&AT Kl B Ci




